ieltsfever

ACADEMIC READING-ANSWER KEY
Each question correctly answered scores 1 mark.

Reading Passage 1, Questions 1-11

1E

2.F

3.1900 B.C. AND A.D. 1500 (Both for 1 mark.) NOT 1900 AND 1500

4. (according to/from)geological evidence/signs/data

5. (the) local population //inhabitants

6. 500/five hundred feet/ft

7. evacuated

8. 8.32 (a.m. /in the morning)

9. (nearly)200 square miles NOT200 miles

10. (a)quarter/1/4 of (a) cubic mile

11.C

Reading Passage 2, Questions 12-25

12. (iv)

13. (viii)

14. (v)
15. (iii)
16. (i)
17. YES

18.NO

19. NOT GIVEN

20. NO

21. YES

22. YES

23. organisational outcomes

24. individual outcomes

25. absenteeism

Reading Passage 3, Questions 2

26. NO

27.YES

28. NO

29. NOT GIVEN

30. wind on (the) film

31. (a) wire strin

new shutter(design)

help@ieltsfever.com www.ieltsdata.com



